@ Multiply by powers of ten (missing number)

Name: Date: Score:
3,777 X =377.7 343 x =343
5.767 % =576.7 4.693 x = 4693
5.569 % = 5569 10.962 x = 1096.2
8.565 X = 856.5 4919 x =4919
7.086 X = 7086 5.496 X = 54.96
5.31 x = 531 10.944 % = 1094 .4
8.023 x = 802.3 8.553 X = 855.3
8.168 % = 81.68 9.517 X =95.17
1.001 x =100.1 3.979 x =397.9
4.042 x =404.2 2.916 x = 2916
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@ Multiply by powers of ten (missing number)

Name: Date: Score:
3.777 x 100 = 377.7 3.43 x 100 = 343
5.767 x 100 = 576.7 4.693 x 1000 = 4693
5.569 x 1000 = 5569 10.962 x 100 = 1096.2
8.565 x 100 = 856.5 4.919 x 1000 = 4919
7.086 x 1000 = 7086 5.496 x 10 = 54.96
5.31 x 100 = 531 10.944 x 100 = 1094 .4
8.023 x 100 = 802.3 8.553 x 100 = 855.3
8.168 x 10 = 81.68 9.517 x 10 = 95.17
1.001 x 100 = 100.1 3.979 x 100 = 397.9
4.042 x 100 = 404.2 2.916 x 1000 = 2916
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